Inter Bearing Group
Group of Companies

©
NMB

A2 Miinebea company

LLlapuKoBble paanasibHble NoALLNMHNKN

MeTpn4yeckoe NCcnoJsiHeHne

TR G py3onogbeMHOCTb, [H] YcnoBHoe 0603HayYeHe NoALNMHMKA
pasmepsl, [MM] '
0603Ha4vyeHne NMB, aHasnor no
d D B AuHawm. Cr | Ctatny. Cor | ISO, JIS Part No. rocT
1,0 {30 | 10 80 23 681 L-310
1,0 [ 30 | 15 80 23 MR31 |L-310W51
10 |40 | 16 158 44 691 L-410 1000091
1,0 {40 | 20 113 34 - L-4102Z
1,2 | 4,0 1,2 158 44 - R-412
15 [40 | 1.2 125 38 681X [L-415
15 [40 | 20 113 34 681XZZ L-415X5Z2Z2
15 [40 | 20 125 38 681XZ2Z L-41527
15 [ 40 | 25 125 38 - L-4152ZW52
15 [ 50 | 20 184 57 691X [R-515
15 [ 50 | 26 184 57 691XZ2Z R-51527
15 [ 60 | 25 324 97 601X [R-615
20 |50 | 15 187 59 682 L-520
20 |50 | 2,0 187 59 MR52 |L-520W02
20 |50 | 2,3 187 59 68227 L-5202Z
20 |50 | 25 187 59 - L-5202ZW52 80082
20 |50 | 25 187 59 - L-520W52 82
20 160 | 2,3 279 89 692 R-620 1000092
20 160 | 2,3 279 89 R-62022Y32 80792
20 160 | 25 330 99 MR62 |R-620W52
20 |60 | 25 330 99 MR62ZZ R-620ZZY52 2080003
20 160 | 3,0 330 99 692727 R-620Z2Z 3080092
20 160 | 3,0 330 99 R-620W03
20 |70 | 25 380 126 MR72 |R-720Y52 62
20 |70 | 2,8 380 126 602 R-720
20 |70 | 3,0 380 126 MR72ZZ R-720Z2ZY03
20 | 70 | 3,5 380 126 60227 R-7202Z 3080012
25 160 | 1,8 206 73 682X |L-625
25 16,0 2,6 206 73 682XZZ L-625Z2Z
25 |70 | 25 380 126 692X [R-725
25 |70 | 30 380 126 - R-72527Y03
25 |70 | 3,5 383 126 692X27Z R-72527
25 180 | 28 553 176 602X [R-825
25 180 | 28 426 156 R-82527Y82
25 180 | 40 553 176 602X2Z R-82527
30 |60 | 2,0 206 73 MR63 |L-630 1000003
30 |60 | 25 206 73 MR63ZZ L-630Z2Z 2080003
30 |70 | 2,0 384 129 683 L-730 1000083
30 | 70 | 3,0 384 129 68327 L-7302Z
30 |70 | 30 384 129 - L-730W03
30 [ 80 | 25 553 176 MR83 |R-830Y52




Inter Bearing Group
Group of Companies

©
NMB

Aus fMinebea company

d D B OnHam. Cratuu. 31S/1SO 0603HaveHune aHasor no
Cr Cor NMB, Part No. roCT

30 | 80 | 3,0 553 176 693 R-830 1000093
30 | 80 | 3,0 426 156 MR83ZZ R-830Z2ZY03
30 | 80 | 4,0 553 176 693727 R-830Z2Z 3080093
30 [ 90| 25 634 219 MR93 |R-930Y52
30 | 90| 30 634 219 603 R-930 13
30 | 90 | 40 634 219 MR93ZZ R-930Z27Y04
30 | 90 | 50 634 219 603272 R-930Z2Z
3,0 10,0 4,0 641 226 623 R-1030 23
3,0 10,0 4,0 641 226 623272 R-1030ZZ 80023
40 | 70 | 2,0 252 106 MR74 |L-740 64
40 | 70 | 2,5 252 106 MR74727 L-7402Z
40 |1 80 | 2,0 384 140 MR84 |L-840
40 | 80 | 3,0 384 140 - L-840W03
40 | 80 | 3,0 384 140 MR84Z77 L-84027Z 80084
40 [ 90| 25 641 226 684 L-940 1000084
40 | 90 | 35 391 142 - L-940ZZ7Y53
40 | 90| 4,0 641 226 68477 L-9402Z
4,0 [10,0| 3,0 708 266 MR104 |L-1040X2
4,0 110,0| 4,0 708 265 MR1042Z L-1040X2Z2Z 3080074
4,0 |11,0| 4,0 708 276 694 R-1140 1000094
40 (110 4,0 708 276 69477 R-1140z2Z 1080094
40 (12,0 4,0 959 347 604 R-1240
4,0 |112,0| 4,0 959 347 604272 R-1240Z2Z 80014
4,0 [13,0| 5,0 1306 487 624 R-1340 24
4,0 [13,0| 5,0 1306 487 62477 R-1340HH 80024
4,0 [16,0| 5,0 1735 671 634 R-1640 34
4,0 116,0| 5,0 1735 671 634272 R-1640HH
50 | 80| 20 274 130 MR85 |L-850
50 | 80| 25 274 130 MR85ZZ L-8502Z
50 | 90| 25 495 207 MR95 |L-950
50 | 90 | 3,0 495 207 MR9577 L-950Z2Z
50 [10,0| 3,0 714 276 MR105 |L-1050
50 [10,0| 4,0 714 276 MR105ZZ L-105527
50 |11,0] 3,0 714 276 685 L-1150 1000085
50 [11,0]| 4,0 714 276 - L-1150Z2Z2Y04 2080085
50 [11,0| 5,0 714 276 68527 L-11502Z 3080085
50 [13,0]| 4,0 1074 422 695 R-1350 1000095
50 |13,0] 4,0 1074 422 695727 R-13502Z 1080095
50 [13,0| 5,0 1306 487 - R-1350W05
50 [13,0| 5,0 1306 487 - R-1350Z2ZW05 80075
50 [14,0| 5,0 1329 508 605 R-1450



www.interbearing.com

Inter Bearing Group
Group of Companies

©
NMB

A s Minebea company

0603HauyeHne NMB, aHav10r no
d D B OunHam. Cr | Ctatuu. Cor | JIS/ISO Part No. rocT
50 [14,0| 5,0 1329 508 60577 R-145077 80015
50 [16,0| 5,0 1735 671 625 R-1650 25
50 [16,0]| 5,0 1735 671 625727 R-1650HH 80025
50 [19,0]| 6,0 2614 1059 635 635 35
50 [19,0| 6,0 2614 1059 63577 63577 80035
50 [19,0| 6,0 2815 1069 635 R-1950 35
50 [19,0]| 6,0 2815 1069 63527 R-1950Z2Z7 80035
6,0 [10,0| 2,5 457 194 MR106 (L-1060 76
6,0 [10,0| 3,0 457 194 MR106ZZ L-1060Z2Z
6,0 [12,0| 3,0 834 363 MR126 |[L-1260
6,0 [12,0]| 4,0 834 363 MR126ZZ L-1260Z2Z
6,0 [13,0| 3,5 1083 438 686 L-1360 1000086
6,0 [13,0| 4,5 1083 438 - L-1360Z2ZY54
6,0 [13,0| 5,0 1083 438 68677 L-1360Z2Z 2080086
6,0 |150]| 5,0 1735 671 696 R-1560X2 1000096
6,0 15,0 5,0 1735 671 69677 R-1560X27Z7 1080096
6,0 [16,0| 5,0 1735 671 - R-1660HH
6,0 [17,0| 6,0 2265 839 606 R-1760X2
6,0 [17,0]| 6,0 2265 839 606727 R-1760X272Z
6,0 [19,0| 6,0 2614 1059 626 626 26
6,0 [19,0| 6,0 2614 1059 62677 62677 80026
6,0 [19,0| 6,0 2815 1069 626 R-1960
6,0 [19,0]| 6,0 2815 1069 626727 R-1960ZZ7
6,0 [19,0| 6,0 2614 1053 62677 626Z272SD02
70 [11,0| 2,5 449 199 MR117 |[L-1170 1000007
70 [11,0| 3,0 449 199 MR117Z2Z L-1170Z2Z
7,0 |113,0( 3,0 883 414 MR137 (L-1370
70 [13,0| 4,0 883 414 MR137Z2Z L-1370Z2Z
70 [14,0| 3,5 1175 511 687 L-1470 1000087
70 [14,0| 5,0 1175 511 687727 L-1470Z2Z7
70 [17,0| 5,0 1606 712 69777 R-1770HH 1080097
7,0 [19,0| 6,0 2246 912 607 R-1970
70 [19,0| 6,0 2246 912 607727 R-1970ZZ7
70 [19,0| 6,0 2614 1059 607 607 17
70 [19,0| 6,0 2614 1059 607727 607727 80017
7,0 [19,0| 6,0 2614 1059 607727 607Z2Z2SD02
70 (22,0 7,0 3297 1368 627 627 27
70 [22,0]| 7,0 3297 1368 62777 62777 80027
70 [22,0]| 7,0 3297 1368 627 R-2270
70 (22,0 7,0 3297 1368 627727 R-2270Z7
70 (22,0 7,0 3297 1368 62777 627Z272SD02



www.interbearing.com

Inter Bearing Group
Group of Companies

©
NMB

A wa Minebea company

NHawM. Cratunu. 00603HaveHne

d D B A Cr Cor JIS/ISO NMB, Part No. aHaunor no FOCT
8,0 [12,0| 2,5 510 255 MR128 (L-1280
80 |120| 3,5 510 255 MR12877 L-1280Z77
8,0 [14,0| 3,5 819 386 MR148 (L-1480
80 |140| 4,0 819 386 MR14877 L-1480Z77
8,0 [16,0| 4,0 1606 712 688 L-1680 1000088
8,0 [16,0| 5,0 1606 712 688727 L-1680HH 2080088
8,0 [16,0| 5,0 1606 712 688727 L-1680X2HH
8,0 116,0| 6,0 1606 712 - L-1680HHWO06
8,0 [19,0| 6,0 2463 1059 698 R-1980 1000098
8,0 [19,0| 6,0 2463 1059 69877 R-1980HH 1080098
8,0 [19,0| 8,0 2463 1059 - R-1980HHWO08
8,0 [22,0| 7,0 3297 1368 608 608 18
8,0 [22,0| 7,0 3297 1368 608727 608727 80018
8,0 [22,0| 7,0 3297 1368 608 R-2280
8,0 |220]| 7,0 3297 1368 608727 R-2280Z77
8,0 [22,0| 7,0 3297 1368 60877 608ZZSD02
8,0 [24,0| 8,0 3297 1368 628 R-2480HH
9,0 [{17,0| 4,0 1724 813 689 L-1790
9,0 |17,0| 5,0 1724 813 68977 L-1790Z2Z
9,0 [20,0| 6,0 2123 985 699 L-2090 1000099
9,0 [{20,0| 6,0 2123 985 69977 L-2090Z2Z 1080099
9,0 [24,0| 7,0 3297 1368 609 609 19
9,0 |24,0| 7,0 3297 1368 60927 60927 80019
9,0 [26,0| 8,0 4581 1972 629 629 29
9,0 [26,0| 8,0 4581 1972 62977 62977 80029
9,0 [26,0| 8,0 4578 1970 629 R-2690

9,0 [26,0| 8,0 4578 1970 62977 R-2690ZZ7
10,0 [ 15,0| 3,0 857 435 6700 |A-1510
10,0 [ 15,0 | 4,0 857 435 6700ZZ A-1510Z2Z7
10,0 [19,0| 5,0 2123 985 6800 ([L-1910
10,0 (19,0 | 5,0 2123 985 6800727 L-1910ZZY05 1080800
10,0 [19,0| 7,0 2123 985 L-1910Z2Z
10,0 [19,0| 7,0 2123 985 L-1910W07
10,0 [ 20,0 | 5,0 2123 985 L-2010ZZY05
10,0 [ 20,0 | 6,0 2123 985 L-2010
10,0 [22,0| 6,0 2697 1273 6900727 R-2210X3HHSD21 1080900
10,0 [ 26,0 | 8,0 4578 1970 6000727 6000727 80100
10,0 [ 26,0 | 8,0 4578 1970 6000 (6000 100
10,0 [ 26,0 | 8,0 4578 1970 6000 |R-2610 100
10,0 [ 26,0 | 8,0 4578 1970 6000727 R-2610ZZ 80100
12,0 [21,0| 5,0 1917 1042 6801727 L-2112HH
12,0 [24,0| 6,0 3082 1433 6901727 R-2412X37Z



www.interbearing.com

Inter Bearing Group
Group of Companies

1%
NMB

A wa Minebea company

d D B | AuHam. Cr SUEIEL JIS/ISO CIGERENDIIIE [N 2 aHasior no rOCT
Cor Part No.
12,0 | 28,0| 8,0 5100 2360 6001 |6001 101
12,0 | 28,0 | 8,0 5100 2360 600127 600127 80101
15,0 [ 20,0| 3,5 944 582 - A-2015
15,0 |21,0| 3,5 938 581 - A-2115
15,0 |24,0| 5,0 2076 1258 6802 |L-2415 1000802
15,0 [24,0| 5,0 2076 1258 680227 L-2415ZZ
16,0 [22,0| 4,0 969 619 - A-2216
16,0 [22,0| 4,0 969 619 - A-221627Z
18,0 [24,0| 4,0 988 654 - A-2418
20,0 125,0| 4,0 1012 691 - A-2520
20,0 | 25,0| 4,0 1012 691 - A-252027Z



www.interbearing.com

